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Example-Supposed the year 2005 is a base year and the 
value of Pn, Pm and Qn is 100 for this year. Again the value of Pn 

= 140, Pm=98 and Qn=90. In the year 2009 find out the value 

of income terms of trade? 



Answer. t1 

PXOx I7T Pm 
Now, 

/77T 40 
x 90 98 

ITT = 1.4286x 90, 
ITT= 128.571 

7R7e feT 7 2005 IU 2009 bA N aNSJ AA 

Example:-Supposed the base year 2005 and the value of Px, Pm and Qx of this year is 100. Again the current year is 2010 and the value of Px, Pm and Qx are 110, 155 and 119, find out the value of income terms of trade. Answer: 

Px ITT= On, Pm 

1019 xl 19, I55 
= 

= 0.7097x119,

ITT= 84.8516 

bo 



2.2.6.2(a) 4TMA fa 2T (Single Factoral Terms 

of Trade): A+7 Af afs) z T9TI�DTA AATaeN 7R 

TAIT (Jacob Vinner) g CA fA R aT411D1 o411 

(Single Factoral Terms of Trade) A | 
efe SFTT = NBTT x Zx 

Px Zx RR SFTT=xZr 
Pm 

SFTT = g0MA T 

Px 

Pm 

Zx 



130 , 

NBIT = Pr 100 
Pm 
150 NBTT 170 100, 
170 

= 0.88235x100,

= 88.235 

I (®R NBTT- 88.235<100) 

Px (SFTT) = xZx, 
Pm 

150 
170 x 130 
170 

0.88235x 130, 
= 114.7055 

Tf = 

114.7055> 100) 

Uios qfA974 CHaS (OICI 34 Px =160 , Pm= 120 



Px 
x 100 

Pm 

160 
x 100 

120 

= I.3333 x100 
- 133.33 

PxZx Pm 
160 
x70, 

120 

=1.3333x 70 

= 93.3333 

2.2.7.ATTTIBT (Criticism): qea 6.. 

(OC "International Economics" AA T7RG 7 TMA TisT 

45 47 TNTCA "Monotrous piece of Jargon" go AAIR 
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